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Run 5990 triggerwise, sums: All
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Endries: 73800

Mzan: 2073.94596 4 B.ETEA

Std Dew: B107.3933 4+ 65582
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Run 5990 triggerwise, sums: Beam ON, Laser ON
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—— Helicity==0
— Helicity==

Endries: 08066

Mran: 22603963 M 134111

5id Dew: T441.68291 + 0.4B30

Eniries: J21834

Maran: &1E5.8658 +1 13,1783

Sed Dew: TATEAA13 4+ 03182
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Run 5990 triggerwise, sums: Beam OFF

Endries: 24

Mzan: 1999.0000 +- 7525599

Std Dew: 35572654 +- 5322109

16000 18000
sum

Run 5990 triggerwise, sums: Beam ON, Laser OFF
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— Helicity==0
— Helicity==

Endries: 41195

Mhzan: S056.2343 4 57 4584

Sed Dew: 116732450 4 405353
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